PreCal Review for 1* Semester Final Name:

Non-Calculator

1) List all relative max or min

il i

_"é + + + j + t +—t + + -
S v : \j e

> 6.67
2) Find the Domain & Range of f(x) = Vx—1+ 3.
D Ly, )

v L3, )

3) Find (f+g)(x)if f(x) =x3—3x+5 & g(x) =x>—5x—6
(F +a)(x)T w2 =3 4T 4 xE-Sx -G
= o4 3t - 8Bx -\

4) Find (f*g)(x)if f(x) =(x+3)*& g(x) =x—3
(Fa)x) = Ce+3)(%-3)

6+ bx+a)(x-3)

K.s =+ 51" -Tx -2

5) Find (fog)(x)if f(x) = x? — 7 & g(x) =Vx + 3
Fea)(x) = FCa0) =

n

"

"

Wx+z'y -1
= w+3-1 = X~ Y
6) Find the inverse of h(x) = (x —3)%2 + 9.
% = (L,)-a)?—+i/_l Jx=9 =2 m y: tly—q +3
%-9= (y-3) +

o= = ae3 — fo: 3EY

X
7) Graph 3 functions that are NOT continuous over Real Numbers
Canck u»-G\:UZN- s "L' :.QM.
sw?\"_ Grecslest vt § g= Gyr L
e T

8) Graph 3 functions that are mcreasmg on the mterval (-e=,0).
Y=

per et e



= & = X. 2
9) Graph 3 functions that are bounded below. ) S ) 'K'

JMMMS: S‘Z "Elz!
10)  Find the function that produces this graph. I
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11) Find the function that produces this graph. .=

Calculator

12) Find the zeroes of f(x) = x? —5x + 3
0.697 omd H. 203

13) Determine the function that has zeroes @ ;, 3,5
ey = (3x-2)(%-3)(x-5)
&) T x> - 2bX + blx ~30

14) What is the end behavior of #137

.j./b\- L".‘A" (y)=“"O‘°
e fod: o K_.,_,,,-F



15) Determine the approximate intervals on which #13 is decreasing.

on (1.637, 4a41)

16) Reflect across the x-axis: q(x) = (x —3)?2 =5 -l
G vmeckepp gt gqodkinr : -3y - 53 = -[e-3) -5
Qg A
Fuﬁ-dtm 2‘ o = (_)L"'E})L"' 5—
17) What type of function does this describe?
?u,acﬁ-rdic

o~

18) What type and what is the equation of the best fit regression curve?
# of Minutes 3/4 |5 |6 |8 expanertict or 2@«04';:.

# of cars 8|15 |24 |35 63 y= 2-70!“-‘!‘?35[ Y= =\

19) Graphite Inc. makes tennis racquets. If each racquet costs $53 to make with fixed overhead costs of
$567,000, what is best fit regression curve?

Lmeoon Y= S3Ix+ SI0c0

Non-Calculator

20) Name a possible function that fits each graph.

T
- - 8 "I rl-10 tFd 10 I )
Lo [ : S 10 } -3 | ‘/ \ Ig ‘ \\, i
| [ \ / K f | | \‘ ;r!,
| RV s Vo \_/
. [ __ {text @b -
| | -5 » g 5 20
£O0 = (x+2Yx- 1) (v -4) § )= Oer3)( =3 )0 #O(x-Y) FONs k=) (x-9)
FO) = ¥2- 3y -bx+§ ey = X' =10 44 flw)= x*-1ox+9
21)Given x = 4 is aroot, find the rest of the zeroes for: f(x) = x® +x? — 16x — 16
I O T R B P [ Y +Sx+Y=o ) -
4 ' (XY Cx+1)= 0 2eroes: Y,-1,-Yy

I S Y o X= =1, x> -4
22) Determine the polynomial of least degree given the roots: 3+i, -2
lbish g Lo i (x* - oxt10)(x + 2)
- - *
U = (x-3-)(x-3+L)(x42) — 7 Fua= G- oxTl
Fv) = 3{3-"& gLy + 20



23) Determine how many complex zero there are for g(x) = 3x* —6x% + 5x — 11

H conplax 2ovoes Y[ deyree of pa(..a.\.cw“-" » Y

24) Determine the limit based upon the graph. lim,_,_ g(x)
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Calculator

25) Solve for q: 2q3 —10g =5

et=-e 430
26) Solve forc: ¢?+3=c = 'Fid0
\ 3
Quadrotic Sormule g5 wh. @xE-3

27) Find the vertical and horizontal asymptotes for h(x) = 43 WA @y

§=-1.924, 4=-.530, 3=2.453

28) Determine all complex zeroes for: w(x) =x* = 8x* -9 y=-3 3,-1,t

29) How many real zeroes there are for:b(x) = 2x3 +3x*4+3x+9 one bjc thert

U owe -t
30) Describe the End Behavior of m(x) = —2x® —x +1
RL:\:&““L“" = f;;mmuh )
Non Calculator
31) Evaluate: —7log103—3 = ~7(3)"3 = -24
32) Write g = a~? in logarithmic form. L°‘5o£%) = -
 loga V75 = > 1 =0 gt
33)Solve for m: log%\/ﬁ =m (&) = @m)/ s 5 2
5™ = 257 S %53
34) Solve for q: % = gA= e \%
“9 _ -0
S v g
- _9-3 )
g & g it & g



35) Condense the expression: 2 [Slog(x + 2) + logx] — log(x +4) = 2 ( ij(J&'t-'L)Y-'- leg *)'i%

36) Solve for w: logs(2w —3) =2 = S = 2w-2

sl = 2(loy Sc(u-rz_)’)-\loa(uq)'
25> 1w~

= \oy x’“(xvrz)lb_locj(y_-ul)

P 1 1Y = Tw
37) Solve for a: —4 =log,— 16 .y oY =W = log ( & (Hl)..)
CL-q = Te ™0 *2 S5qa-= 2 Kry
38) Identify the domain, range, x& mtercepts and any asymptotes for 3**2 — 1
y +1 +2
Dt (-00)®) y-wmt: 0=3" N 3v~* 3% =1 asymgioies :
. . .3 =1 . - -
R (-1,00) \23”1 S HA.@ y=-)
F=3 4 5 noV.A .
Calculator Bt 3

39) Solve for x: In(x +4) +In(x — 3) = 2In3 %= 4.\o
40) Find the Domain & Range of : f(x) = e* +7 D (-, )
R: (1, 00)
41) Find the Domain, Range, X&Y Intercepts, and Asymptotes of:

f(x) =—=1+logs(x + 3)

D: 3, 8) x-ak: wz-2 cogmpiolest x=-3 V.A.
RN (~o0,00) gy-wt 1 yz - 683 no . A,
42) The # of bacteria in a petri dish after “t” hours is B = 100e*t wheret = 0 represents
the time 12pm. At 6am the # of bacteria was 42. k&)
“ up ‘t="l° i ‘o"o"e\." /M(%)-—.—(‘k
a) Find “k A= @
Joo JUS - e
b) Using “k”, find the # of bacteria at g_p_m A4S (8) S ¢loce He
=8 B =looce

c) Vel of ke

RBR= 317452
$0, B\ & bacteres

43) pH = —log[H™]
a) Find the pH if [H']3.98x 1077
b) Find [H*] if pH=2.0 P ey [parnet)
2.0 - Log [H'] pH: 2 Yyoo
.-20" LO%CH‘ J_’ .OIZEH-*_-]

Non—CalcuIator

44) Find the focus for a parabola with vertex (5,-2) & directrix y=3.

D--3i[ ————— £ (5,-2-8)
-y v ESMS Fourb! (S -1

45)Find the vertex for a parabola with focus (-2,5) & directrix x=-6.

v
1(1‘5_}[ 'FI"M‘ Fom\{-u MM Y Lnrs v | :(,2-2} g)
..g. T Forus Veelek = "— T 2unsits (‘_,_h 5)
46)Fiﬁd the c_iirectrix'for a parabola with vertex (-2, 4) & focus (-7, 4).
Fo % 44, Fecodo verdoc! Suaihs Dwechuy: %= ~2+5
.2 ’ Vardey 4o Drtchin ¢ Tunts %x=3



47)Write the equation for a parabola with vertex (3, 2) & directrix x=-2.

= PES (4= K= Up(x=W)
;T-@ (y-2) = 4(X%=3)
-2 3
= (y-2Y 7 20(x~3)
48)Find the vertices of an ellipse with foci (1, 4), (1,-4) & major axis of 13,

4 “ cender - (1,0) G C = fotit S 2az13 'z‘,w* 2
) ducewhr ae bS /
i w Vectices: (1,6.5) e=y
(“—G'ﬁ) OS

49) Write the equation for an ellipse with vertices (13, 3) (-13, 3) & foci (12,3), (-12,3).

v,,- center 1 (0,3) gx.._h +{‘j ) =
SERTS SR =13 at = rc’

ez B> vt ‘f; - .‘:L =
50) Draw the graph and write fhe equation of ane Ilpse with a major axis of 12, minor axis
of 10 & centerat (2, -1) . G022
< (x=2) +1 4y | Cx-2) o b
2b=10 X204 e sw ek eSS
3 Yy
5 36 25 2]
51) Draw & Label the graph of 12x2 + 6y? = 24.
—fj__ 2.11 M 2"‘ 2 WY cewker : (0,0)
—2'.— ! vl B '?T* éf =4 y=2+et - varlueest Co,2) (072D
z:‘:‘ - s fecl t (0,91) (0,-/3)
52) Find the eccentricity of #51. "%~
e _ ¥
Cs —m S
a 2

53) Draw & Label the graph of r25(x-2)2—16(yj_3)2=£19_g.

460
L¥ 2 ¢ 1_3) Hod Yoo
’—l % =1 vordiced ' (-2,°3) C6;73)
'J..'S"'
54) Find the eccentricity of #53.
crat vy & = Jur
cFrlp+2S €- EN
e Var
55) Find the vertices & foci of 9 J = 36.
ﬂ--—-—-—:l 36 3" 3 vavtices: (0,2) (0,~2)
a..'!-,-_-l: c,z}:l"'! {-'-oc-.. (O\J"é) (O m
lo
56) Write the equation for a hyperbola with foci (10, 3), (-10, 3) & vertices (6, 3), (-6, 3).
conker (0,3) b - e oy
(x o) Cg 3y 51 c=lo . a.p o0
g3 1002 B 40"
b
57)Find the equation of tﬁe asyfhptotes of #56. Ch ’;
g =

W%&s. %—K" +-a_"()r. W)
y-3* f-—g—or.ho)

y=+4d, +3



